1) Complete the table.
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2) a) Write a number story and calculation to match each bar model. The first one has been done for you.
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There were 10 punnets filled with 12
strawberries each.
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b) Represent one of the bar models above by drawing it in another way, such as a part-whole model or counters.
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1) Look at the two images below. Explain what is the same and what is different about them.
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2) a) Look at the three calculation representations. Which one is the odd one out and why?
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b) Draw another model or image that could replace the odd one out.

visit twinkl.com

T
Quality Standard

Approved /

4


https://www.twinkl.co.uk/resources/white-rose-maths-resources/year-4-white-rose-maths-resources-key-stage-1-year-1-year-2/autumn-block-4-multiplication-and-division-year-4-white-rose-maths-resources-key-stage-1-year-1-year-2

1) a) Hiba multiplied a two-digit number by 10. Her answer was a multiple of 7. Her original number had

fewer than 6 tens. Shade Hiba's possible calculations on this grid.

7 x 10 21 x 10 35 x 10 32 x10
65 x 10 14 x 10 63 x 10 84 x 10
28 x 10 40 = 10 49 x 10 36 x 10
77 x 10 42 x 10 70 x 10 24 x 10

b) One of Hiba's possible calculations is missing from this grid. Can you find the missing calculation?

2) Sam multiplied a three-digit whole number by 10. His three-digit number was an odd number. It had a hundred

digit that was a multiple of 3 and a ten digit that was either a O or 5.

What could the original calculation have been? Can you find all of the possible answers? One example has been

done for you.

30] x 10 = 30]0
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